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Question Number : 1 Question Id : 73681512281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following avoids first pass effect of the Drugs?
Options:

, = Oral ingestion



- % Rectal suppository
-  Intravenous injections
4 % None of the other options

Question Number : 1 Question Id : 73681512281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

| » AIBF g

o ® fraarer afde T (Rectal suppository)
5 v Hed:RRT g

L % 33 fFeredl # & FIT J87

Question Number : 2 Question Id : 73681512282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In which of the following phases of clinical trial of Drug ethical clearance is not required?

Options:
, % Pphasel
- % phase2

5 % phase3

4  Phased

Question Number : 2 Question Id : 73681512282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 3 Question Id : 73681512283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

K, value indicates:
Options:

; % impurity of enzyme



- % physiological role

- » purity of enzyme
4  affinity

Question Number : 3 Question Id : 73681512283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 4 Question Id : 73681512284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following shows high first pass metabolism?
Options:

, « Propranolol

> % Phenobarbitone

- » Phenylbutazone

4 % Phenytoin

Question Number : 4 Question Id : 73681512284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 5 Question Id : 73681512285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Pharmacovigilance is used for:

Options:



, « tomonitor drug toxicity

-~ % tomonitor unauthorized drug manufacture

5 % monitoring of students

4 % check costs

Question Number : 5 Question Id : 73681512285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 6 Question Id : 73681512286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What quantities of 95% v/v and 45% v/v alcohols are to be mixed to make 800 mL of 65 % v/v alcohol?

Options:
1 % 480 mL of 95% and 320 mL of 45% alcohol

> o 320 mL of 95% and 480 mL of 45% alcohol
=z % 440 mL of 95% and 360 mL of 45% alcohol
4 % 360 mL of 95% and 440 mL of 45% alcohol

Question Number : 6 Question Id : 73681512286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

65% F/ET FT 800 THUS HoFIglor I & AT oeRIgier &r 95% F/ET 3T 45% v Fr
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Options:

| » 95% TigaT F 480 fALA. FUT 45% TigaT F 320 A R
. » 95% WEar F 320 A FUT 45% WiEaT F 480 A eRET
. » 95% WEaT F 440 TR, FUT 45% WiEgaT FT 360 HA. HeRET
, » 95% Wgar F 360 A FUT 45% WigaT F 440 A HeRE

Question Number : 7 Question Id : 73681512287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The role of borax in cold creams 1s:



Options:
, w anti-microbial agent

> % toprovide fine particles to polish skin

in-situ emulsifier

1
'3

4 % antioxidant

Question Number : 7 Question Id : 73681512287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

(8 IFMURTET T (anti-microbial agent)
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Question Number : 8 Question Id : 73681512288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Purity of water can be assessed by determining one of its following properties instrumentally:

Options:

1 = pH

- % Refractivity
- w Viscosity

4  Conductivity

Question Number : 8 Question Id : 73681512288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

, % Hre= (pH)

> » DibfeefEdr

- » Jnera (Viscosity)

4 v F98hccd (Conductivity)

Question Number : 9 Question Id : 73681512289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Which one of the following is commonly used bulking agent in the formulation of freeze dried low dose dug
products?

Options:
1 % Sodium Chloride

> « Mannitol

= % Starch
4 % HPMC

Question Number : 9 Question Id : 73681512289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

|« HIETH FENES
, » AR (Mannitol)

T ® J%'Iﬁ'
, » TEATEE (HPMC)

Question Number : 10 Question Id : 73681512290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which filler can NOT be used for the preparation of tablets for amine containing basic drugs to avoid discoloration of
the tablets?

Options:
, = Dicalcium phosphate

> % Microcrystalline cellulose

= % Starch
4 « Lactose

Question Number : 10 Question Id : 73681512290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 11 Question Id : 73681512291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Stevens Johnson syndrome is the most common adverse effect associated with one of the following category of drugs:
Options:

, « Sulphonamides
> % Macrolides

= % Penicillins

4 % letracyclines

Question Number : 11 Question Id : 73681512291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 12 Question Id : 73681512292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In Gas-Liquid Chromatography. some of the samples need to be derivatized in order to increase their:
Options:

, « Vvolatility

> w solubility

5 % thermal conductivity

4, % polarizability

Question Number : 12 Question Id : 73681512292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 13 Question Id : 73681512293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Artemisinin contains the following group in its structure:
Options:

, « anendoperoxide

an exoperoxide
an epoxide

an acid hydrazide

Question Number : 13 Question Id : 73681512293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 14 Question Id : 73681512294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Streptomycin can NOT be given orally for treatment of tuberculosis because:

Options:

, % 1t gets degraded in the GIT

> % it causes severe diarrhoea

= % it causes metallic taste in the mouth
4 « it is not absorbed from the GIT

Question Number : 14 Question Id : 73681512294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TEF F s F T weAEfRe Aifgs &7 7 J@ & 31 gear F4iE

Options:
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Question Number : 15 Question Id : 73681512295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which one of the following is NOT an ex-officio member of Pharmacy Council of India?
Options:

1 % The Director General of Health Services

-~ % The Director of Central Drugs Laboratory

- % The Drugs Controller General of India

4 « The Director of Pharmacopoeia Laboratory

Question Number : 15 Question Id : 73681512295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
. TITELT W4T &F HAglac 2l (The Director General of Health Services)

1.
, « Fearg ey gaAETRNeT % fAdeF (The Director of Central Drugs Laboratory)
. % ARA & 3ufer Ag@a=e (The Drugs Controller General of India)

, » 3SeErer gAETeeT F fAgers (The Director of Pharmacopoeia Laboratory)

Question Number : 16 Question Id : 73681512296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Eugenol is present in:
Options:

1 % Fennel

> « Tulsi

z % Cardamom

4 % Coriander

Question Number : 16 Question Id : 73681512296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 17 Question Id : 73681512297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Gingko biloba is used for its:
Options:

, w» Expectorant activity

- % PAF antagonistic activity
- % Lipid lowering activity

4  Antidepressant activity

Question Number : 17 Question Id : 73681512297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

| » FHIcHNe Ifafafa (Expectorant activity)

. % ... el Afafafer (PAF antagonistic activity)

. TS @I FH I FH AT (Lipid lowering activity)
. » HIEEULT AT (Antidepressant activity)

Question Number : 18 Question Id : 73681512298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Quassia wood is adulterated with:
Options:

, w Brucea antidysentrica

- % Cinnamomum zeylanicum

-  Cassia angustifoila

4 % Cephaelis ipecacuanaha

Question Number : 18 Question Id : 73681512298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 19 Question Id : 73681512299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The given antibiotic 1s an example of ansamycins:

Options:

, % Roxythromycin
- % Adriamycin

5 % Aureomycin

4  Rifamycin

Question Number : 19 Question Id : 73681512299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 20 Question Id : 73681512300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The amount of barbalo present in Aloe Vera is:

Options:

;% <1%
5 & 3.5-4%
2 ® 1-1.5%
4 ® 2-2.5%

Question Number : 20 Question Id : 73681512300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
L% <1%

- & 3.5 - 4%
s % 1-15%
L% 2-25%

Question Number : 21 Question Id : 73681512301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In the Drugs and Cosmetics Act and Rules, the Schedule relating to GMP is:

Options:

1 « Schedule M
> % Schedule C
=z % Schedule Y

4 % Schedule H

Question Number : 21 Question Id : 73681512301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

1.9 WM
4 % WH

Question Number : 22 Question Id : 73681512302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The healing agent used in hand creams is:
Options:

| « Soft paraffin
> % urea

=z % bees wax

4 % stearyl alcohol

Question Number : 22 Question Id : 73681512302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:



Question Number : 23 Question Id : 73681512303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Bloom strength is used to check the quality of:

Options:
1 # Lactose

- % Ampoules

5 % Hardness of tablets

4 « Gelatin

Question Number : 23 Question Id : 73681512303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

soF TEY & T T AT FHr T F F v Brar Smar g
Options:

. % IS (Lactose)

, » S @7 ol (Ampoules)

. » INorT T FIRAT (Hardness of tablets)
, v FAEE (Gelatin)

Question Number : 24 Question Id : 73681512304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following is a flocculating agent for a negatively charged drug?

Options:

1+ Aluminium Chloride

- % DBentonite

- % Iragacanth

4 % Sodmm Biphosphate

Question Number : 24 Question Id : 73681512304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

i TegHIATH FANES
, % SATEE
, « TISTH SSHER

Question Number : 25 Question Id : 73681512305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Thioglycolic acid-like compounds have applications in following type of cosmetic formulations:

Options:

1 Depilatory preparations
- u Epilatory preparations
5 % vanishing creams

4 % Skin tan preparations

Question Number : 25 Question Id : 73681512305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

1 SirE=AT2reR T==T (Depilatory preparations)

v ﬁ!:@ﬂq—r =T (Epilatory preparations)

- » oraefier $1A (Vanishing creams)

4 % codl & TI=T (Skin tan preparations)

Question Number : 26 Question Id : 73681512306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Guggul lipids are obtained from:
Options:

, « Commiphora molmol

- % Commiphora wightii
= % DBoswellia serrata

, = Commiphora abyssinica

Note: For this question, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.



Question Number : 26 Question Id : 73681512306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

| v FEERT A
. » FAERT Rd
.« SrEATET e
4 % FITHERT T AR

Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.

Question Number : 27 Question Id : 73681512307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Nicotinic action of acetylcholine is blocked by the drug:
Options:

, % Afropine

> % Carvedilol

5 % Neostigmine

4 + d-Tubocurarine

Question Number : 27 Question Id : 73681512307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 28 Question Id : 73681512308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Selective serotonin reuptake inhibitor is:
Options:

, % Imipramine

> % Iproniazide

3 « Fluoxetin

, % Naphazoline



Question Number : 28 Question Id : 73681512308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

. % SAYAES (Imipramine)
, % FIISSE (Iproniazide)
i Fel3ira i (Fluoxetin)

, % oS (Naphazoline)

Question Number : 29 Question Id : 73681512309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Triterpenoids are active constituents of:

Options:
1 % Jaborandi

> % Rhubarb
z % Stramonium

4 + Brahmi

Question Number : 29 Question Id : 73681512309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

. % SENEr (Jaborandi)

, « %ga™ (Rhubarb)

. » FANAIA (Stramonium)
., » STEAT (Brahmi)

Question Number : 30 Question Id : 73681512310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Coulter counter 1s used in determination of:
I. particle surface area

II. particle size

III. particle volume

Options:

; % Onlyl



o % Onlyll

- w OnlyIII

4 v LIIand III

Question Number : 30 Question Id : 73681512310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 31 Question Id : 73681512311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Drugs in suspensions and semi-solid formulations always degrade by:

Options:

1 % first order kinetics

- % second order Kinefics
= « Zero order Kinetics

4 % non-linear kinetics

Question Number : 31 Question Id : 73681512311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T HR 3E-3T BauT Hemm EgRe _ ZawT AeAgd gt g

Options:

| » TUH T FEAead
L % ST T FEAfed
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, » I W@ FEAfeEw

Question Number : 32 Question Id : 73681512312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



In nail polish, following polymer is used as a film-former:
Options:
1 « Nifrocellulose

o

- % Polylactic acid

- % Hydroxypropyl methylcellulose

4 % Cellulose acetate phthalate

Question Number : 32 Question Id : 73681512312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

ﬁ]ﬂ;ﬁéo{hﬁﬁd (Nitrocellulose)

1, W~

, » Grerdigs Tf@s (Polylactic acid)

2 ESIFATATTel fAuEeHege=T (Hydroxypropyl methylcellulose)
= F ellulose acetate phthalate

M:ﬁ—aﬁmwﬁﬁm(cm hthalate)

Question Number : 33 Question Id : 73681512313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Improvement of memory in Alzheimer's disease is brought about by drugs which increase transmission in:
Options:
, « Cholinergic receptors

-~ % dopaminergic receptors

= % GABA receptors

, % adrenergic receptors

Question Number : 33 Question Id : 73681512313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

| v TS gy
. % SNTARTSE NATed
- » TMET REEH

, » TSATEE REreed

Question Number : 34 Question Id : 73681512314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Which one of the followings is a plasminogen activator?

Options:

1 % Tranexamic acid
o  Streptokinase

- % Aminocaproic acid

, % None of the other options

Question Number : 34 Question Id : 73681512314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

|« SAFSAE UfEE
z.wmﬁm

. « UAATasH ofEs

, w 30 TFed 7 ¥ FE A

Question Number : 35 Question Id : 73681512315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following drugs does NOT act through G-Protein coupled receptors?

Options:
, w Epinephrine
> « Insulin

- % Dopamine

4 % TSH

Question Number : 35 Question Id : 73681512315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 36 Question Id : 73681512316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which one of the following drugs is NOT a typical anti-psychotic agent?
Options:

., » Chlorpromazine

» % Haloperidol

5  Risperidone

, % Flupentixol

Question Number : 36 Question Id : 73681512316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 37 Question Id : 73681512317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Identify the drug which is NOT used in the treatment of malaria caused by Plasmodium falciparum:
Options:

1 + Artemisinin

- % Primaquine

5 % Quinine

4 = Mefloquine

Question Number : 37 Question Id : 73681512317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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4 % HFeFT

Question Number : 38 Question Id : 73681512318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The chemical behaviour of morphine alkaloid is:

Options:

1 # acidic
> « basic

5 % neutral

, % amphoteric

Question Number : 38 Question Id : 73681512318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 39 Question Id : 73681512319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Synthesis of UREA takes place exclusively in:
Options:

, % Kidney

> « Liver

5 % Urinary bladder

4 % Pancreas

Question Number : 39 Question Id : 73681512319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 40 Question Id : 73681512320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A metabolite of SPIRONOLACTONE is:
Options:

1 % Aldosterone

> o Canrenone
= % Corticosterone

4 % Pregnenolone

Question Number : 40 Question Id : 73681512320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 41 Question Id : 73681512321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The starting material for the synthesis of ALPRAZOLAM is:

Options:

, w 3-amino-S-bromoacetophenone
o  2-amino-5-chlorobenzophenone
5 % Z-amino-5-bromoacetophenone

, % 3-amino-5-chlorobenzophenone

Question Number : 41 Question Id : 73681512321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Heqrairerd (ALPRAZOLAM) & TeaNUT & T 3RfHs @ 2]

Options:
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Question Number : 42 Question Id : 73681512322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A widely accepted detector electrode for pH measurement is:
Options:

, % platinum wire

o o glass electrode

5 & Ag-AgClelectrode

4 % lanthanum fluoride

Question Number : 42 Question Id : 73681512322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

o » TOTH Folerars
- » USA-USATHTS oFars (Ag-AgCl electrode)
, % UTH FANSS

Question Number : 43 Question Id : 73681512323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A new drug delivery system which is composed of phospholipids that spontaneously form

a multilamellar concentric bilayer vesicles with layers of aqueous media separating the lipid layers
is:
Options:

, % Pprodrugs

-  liposomes

5 % oOsmotic pumps

, % hanoparticles

Question Number : 43 Question Id : 73681512323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 44 Question Id : 73681512324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The analyte is used in the form of a solution in flame photometry because it should undergo:
Options:
, w evaporation

> % condensation
= « nebulisation

4 % precipitation

Question Number : 44 Question Id : 73681512324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 45 Question Id : 73681512325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Isoniazid is a primary antitubercular agent that:
Options:
|« Tequires pyridoxine supplementation

causes ocular complications that are reversible if the drug is discontinued
is ototoxic and nephrotoxic

should never be used due to hepatotoxic potential

Question Number : 45 Question Id : 73681512325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 46 Question Id : 73681512326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The mechanism of action of Paclitaxel is:

Options:

1 %
bind to DNA through intercalation between specific bases and block the synthesis of new RNA or DNA. cause DNA
strand scission

-  nitotic spindle poison through the enhancement of tubulin polymerization

competitive partial agonist ce inhibitor of estrogen and binds to estrogen

- % Teceptors

S-Phase specific antimetabolite that is converted by deoxykinase to the 5¢-
4 % mononucleotide

Question Number : 46 Question Id : 73681512326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 47 Question Id : 73681512327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the reagent used for diazotization?

Options:

, « NaNOj + dilute HC]



5 #® KNOj + dilute H,SOy

= % Zn+dilute HySO4

4 % Tin ~ H>504

Question Number : 47 Question Id : 73681512327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

., NaNO3 + &g HCl
_ « KNO3 + & HS04
_ » Zn + T HyS04

, x Tin + HpSOy

Question Number : 48 Question Id : 73681512328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The mechanism of antiparasitic action of Mebendazole and thiabendazole involves:
Options:

, « stimulation of acetylcholine receptors at neuromuscular junctions

- % inhibition of dihydropolate reductase

- » interference with microtubule synthesis and assembly

4 % Dblock thiamine transport

Question Number : 48 Question Id : 73681512328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 49 Question Id : 73681512329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A 5SHT g/ p receptor agonist useful in migraine is:



Options:
| Sumatriptan
> % ketanserin

- % ergotamine

4 % methysergide

Question Number : 49 Question Id : 73681512329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Wﬁmﬁﬁ'ﬁ\ 5HT1p/1D mﬂm—m

Options:

i QAT (sumatriptan)
, w eAHRA (ketanserin)

3 % TAfeATES (ergotamine)
, « AUBHEIAS (methysergide)

Question Number : 50 Question Id : 73681512330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A retardant material that forms a hydrophilic matrix in the formulation of matrix tablets is:

Options:
1 v HPM.C

> % CAP

- w Polyethylene

4 % Cammauba Wax

Question Number : 50 Question Id : 73681512330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 51 Question Id : 73681512331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Schedule in Drugs and Cosmetics Act that deals with the requirements and guidelines for clinical trials. import and
manufacture of new drugs is:



Options:
1 % Schedule O

- % Schedule M
= # Schedule F
4 « Schedule Y

Question Number : 51 Question Id : 73681512331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 52 Question Id : 73681512332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The correct non-ionic surfactant used as a penetration enhancer in the preparation of mucoadhesives is:

Options:
1 % oleic acid

o o tween-80

- % Blycerol

4 % propylene glycol

Question Number : 52 Question Id : 73681512332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 53 Question Id : 73681512333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

An agent used in Prinzmetal angina has spasmolytic action which increases coronary blood supply is:
Options:

| « Ditroglycerine

- » nifedipine

=z % timolol

4 % 1isosorbide mononitrate

Question Number : 53 Question Id : 73681512333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 54 Question Id : 73681512334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Unless otherwise stated in the individual monograph of the pharmacopenia. in the disintegration test for enteric coated
tablets, first the dissolution is carried out in:

Options:
, % 0.1M HCI

> % Phosphate buffer
3 o Water
4 % 0.1M H>SOq4

Question Number : 54 Question Id : 73681512334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 55 Question Id : 73681512335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Lycopodium spore method can be used to find out percentage purity of crude drugs which contain:

Options:
, w» multi-layered tissues or cells

o « Well defined particles which can be counted

oil globules

characteristic particles of irregular thickness. the length of which can be
4 % measured

Question Number : 55 Question Id : 73681512335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 56 Question Id : 73681512336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Spinal cord in infants extends upto the level of:

Options:
1 % lower border of L1 vertebrae

- % lower border of L5

- % upper border of S1

"

4 + lower border of L3

Question Number : 56 Question Id : 73681512336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 57 Question Id : 73681512337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Lower border of scapula is at the level of:

Options:
1 # T4

o ® T3
T T9
4« T7

Question Number : 57 Question Id : 73681512337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 58 Question Id : 73681512338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The length of Adult Trachea is:

Options:
1 % 6to8cm

> « 10to 11 cm
= % 14to 15 cm
4 % 16to 20 cm

Question Number : 58 Question Id : 73681512338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 59 Question Id : 73681512339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Coronary sinus opens into:
Options:

1 #% inferior vena cava

o  right atrium

5 % left atrium
4, % greatcardiac veins

Question Number : 59 Question Id : 73681512339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 60 Question Id : 73681512340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The longest vein in human body is:

Options:

1 ® IVC

- » Cephalic

3z % DBasilic

4 « Long saphenous

Question Number : 60 Question Id : 73681512340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 61 Question Id : 73681512341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Colour vision is by:
Options:

1 #% Rods

> o Cones

- % Occipital cortex

, % Bipolar cells

Question Number : 61 Question Id : 73681512341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Options:
, % O3 (Rods)

, » @ (Cones)
. « HiTH9ee Héad (Occipital cortex)
4% gfardr St (Bipolar cells)

Question Number : 62 Question Id : 73681512342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The receptors of pain is:
Options:

, » Ruffini organs

- % Meckel’s bodies
- % Golgi bodies

4  Freenerve endings

Question Number : 62 Question Id : 73681512342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 63 Question Id : 73681512343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
BMR is dependent upon:

Options:
, » Body weight
> « Surface area
- % Amount of adipose Tissue

, % Amount of lean body mass

Question Number : 63 Question Id : 73681512343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 64 Question Id : 73681512344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Site of ADH action is:
Options:

1 % Proximal tubules

> % Loop of Henle
= % vasarecta
4  Collecting tubules

Question Number : 64 Question Id : 73681512344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 65 Question Id : 73681512345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Parietal cell secretes:
Options:

1 ® Mucus

5 R Pepsinogen
= # Gastrin
4 + Intrinsic factor

Question Number : 65 Question Id : 73681512345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 66 Question Id : 73681512346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which one of the following drugs specifically inhibits calcineurin in the activated T lymphocytes?

Options:
1 % Daclizumab

> % Prednisone
=z % Sirolimus
4 « Tacrolimus

Question Number : 66 Question Id : 73681512346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 67 Question Id : 73681512347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following drugs act by inducing Lipocortins?

Options:
1« Glucocorticoids

> % Insulin
5 % vasopressin
4 % None

Question Number : 67 Question Id : 73681512347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 68 Question Id : 73681512348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
V1 receptors are associated with:

Options:

, % absorption of water by collecting ducts
> « Vasoconstriction

= % insulin release

4, % ho specific role in body

Question Number : 68 Question Id : 73681512348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 69 Question Id : 73681512349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the drugs should be used cautiously in patient with Sulpha drug allergy?

Options:
1 % Insulin

> % Rifampacin

%z % Zidovudine
4 « Furesmide

Question Number : 69 Question Id : 73681512349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

for=fafET garet 7 ¥ forme 92T To® gar Terstt & AT & Fasharg@s fhar ST
TMET?

Options:

Question Number : 70 Question Id : 73681512350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Amantadine is used in clinical seftings as:

Options:
, = Anti-parkinson drug

» % Anti-influenza drug
- « Both anti-parkinson drug and anti-influenza drug

4 = None of the other options

Question Number : 70 Question Id : 73681512350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 71 Question Id : 73681512351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Drug of choice for malaria in Pregnancy:

Options:

, « Chloroquine

- % halofantrine
5 % artemisimin

4 % mefloquine

Question Number : 71 Question Id : 73681512351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 72 Question Id : 73681512352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Tocolytics are drugs which are used for:

Options:
1 # uterine stimulants

- % Dbrochodilation
3 o uterine relaxants
4 % brochoconstrictor

Question Number : 72 Question Id : 73681512352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 73 Question Id : 73681512353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Sulfa drugs are associated with:

I. Steven Johnson syndrome
II. Erthyema nodosum
III. Haemolytic anaemia

Options:
, % Onlyl

- » Onlyll
5 w OnlyIII

4w 1. 1T and III

Question Number : 73 Question Id : 73681512353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 74 Question Id : 73681512354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Chloroquine can be used in all Expect;

Options:
1 ® DLE

2 v IBS
= W RA
4 % Malaria

Question Number : 74 Question Id : 73681512354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
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Options:
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, » HTEETH (IBS)

. » HRT (RA)
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Question Number : 75 Question Id : 73681512355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Sitagliptin is:

Options:

1 % Renin Inhibitor

5 « DPP-4 Inhibitor
= ® Vasopressin Inhibitor
4 % Formof ART

Question Number : 75 Question Id : 73681512355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 76 Question Id : 73681512356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Gatifloxacin has been withdrawn from market because:
Options:

1 #% causes renal failure

- % causes peripheral vascular disease
- % causes erectile dysfunction

4 ¥ hyperglycemia in elderly

Question Number : 76 Question Id : 73681512356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 77 Question Id : 73681512357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Hyperkalemia is associated with all expect:
Options:

1 % ACE mhibitors

- % Cyclosporine

=z % Addison disease

4 « Diuretics

Question Number : 77 Question Id : 73681512357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 78 Question Id : 73681512358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Warfarin is absolutely contraindicated in:
Options:

, « First trimester of pregnancy

- % Third trimester of pregnancy

- » During breast feeding

4 % None of the other options

Question Number : 78 Question Id : 73681512358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
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Question Number : 79 Question Id : 73681512359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is NRTI?

Options:

, = Saquinavir
> « Abacavir

z % Indinavir

4 % Ritonavir

Question Number : 79 Question Id : 73681512359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 80 Question Id : 73681512360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

MESNA is used along with cyclophosphamide as to:
Options:

, w Synergestic action

- % required for activation of cyclophosphamide

-  prevent haemorrhagic cystitis

4 % None of the other options

Question Number : 80 Question Id : 73681512360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
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Question Number : 81 Question Id : 73681512361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Pentoxifylline is used in:

I. PVD
II. Vascular dementia
ITI. Alcoholic iver disease

Options:
; = OnlyI

> w Onlyll
5 w OnlyIII
4 v LIland I

Question Number : 81 Question Id : 73681512361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 82 Question Id : 73681512362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Sildenafil acts by inhibiting:

Options:



, % PDE-1
> « PDE-5
s % PDE-2
4 % PDE-9

Question Number : 82 Question Id : 73681512362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 83 Question Id : 73681512363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Redman syndrome is associated with which of the following drug?

Options:

| Vvancomycin
- % Linezolid

- w Azithriomycin
4 % Rifamycin

Question Number : 83 Question Id : 73681512363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 84 Question Id : 73681512364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Sodium Valproate is used in:

Options:



1 % Mood disorders
> % Epilepsy

5 o Both mood disorders and epilepsy

, % None of the other options

Question Number : 84 Question Id : 73681512364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 85 Question Id : 73681512365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ganciclovir is used for:
Options:

1 « CMV retinitis

- x Anti-influenzal drug
= % Anti-helmith drug

4 % Anti-leprotic drug

Question Number : 85 Question Id : 73681512365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 86 Question Id : 73681512366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Volume of distribution 1s highest with:

Options:



1 % Zidovudine

-  Chloroquine

= % Abacavir
4 % Leptins

Question Number : 86 Question Id : 73681512366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 87 Question Id : 73681512367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Drugs associated with pseudomembranous colitis:
Options:

, w» amoxycillin

o of ‘L'ﬂIlCGIIl‘_‘.-’CﬂI

5 % amoxycillin and vancomycin

, % nhone of the other options

Question Number : 87 Question Id : 73681512367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 88 Question Id : 73681512368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Pralidoxime is useful in:

Options:



| « organophosphate poisoning
» % carbamate poisoning
5 % theophylline poisoning

4 % TCA poisoning

Question Number : 88 Question Id : 73681512368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 89 Question Id : 73681512369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
False statement regarding First order kinetics of drugs:

Options:
, w» Rate of elimination o Drug concentration
- % CL- constant

= + Constant amount eliminated in unit time

4 % Constant fraction eliminated in unit time

Question Number : 89 Question Id : 73681512369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 90 Question Id : 73681512370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Loading dose of a drug is governed by:

I. Volume of distribution (V)
I1. Half-life (t1/2)
ITI. Clearance rate (CL)

Options:
, v Onlyl

o % Onlyll

- » OnlyIII

4 % LITand I

Question Number : 90 Question Id : 73681512370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 91 Question Id : 73681512371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is an electrolyte?

Options:
1 % Folic Acid

> % Intravenous emulsion
% « Potassium chloride
4 % Vitamin C

Question Number : 91 Question Id : 73681512371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 92 Question Id : 73681512372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Chemotherapy agents are also known as:
Options:
| « Antineoplastics

o R Ophthalmics

- % [lotal parental nutrition solutions

, % Large volumes of IV solution

Question Number : 92 Question Id : 73681512372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 93 Question Id : 73681512373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Codeine differs structure from Morphine by:

Options:

% N-Methyl Group
5 % - ClGroup

= % - OCZH2 Group
g OCH3 Group

Question Number : 93 Question Id : 73681512373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 94 Question Id : 73681512374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Chloroquin is an antimalarial drug which belongs to the class of:
Options:

| -4 amino quinoline

> % -3 amino quinoline

5 % =2 amino quinoline

4 % -acidine

Question Number : 94 Question Id : 73681512374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 95 Question Id : 73681512375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Penicilline on hydrolysis with alkali gives:
Options:

1 « Penicilloic acid

> % Penaldic acid
= % Penicillic acid
4 % Penicillamine

Question Number : 95 Question Id : 73681512375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

| » JAHedIgs TS (Penicilloic acid)
5 % Jalfess TTAE (Penaldic acid)




. » Sfafafes offs (Penicillic acid)
4 % yAf@caraEa (Penicillamine)

Question Number : 96 Question Id : 73681512376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In which type titration pure metals are used as standards?

Options:
, w Precipitation titration

> % Acid base titration

= % Oxidation reduction titration

4  Complex formation titration

Question Number : 96 Question Id : 73681512376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

E TR & HFAIE A F U F ASS F T H SEIATS [HAT AT 87
Options:
HTETIUT HFATIA

1.

- ofiE ameiE AT

HTFAHIOT H FHT ITeT HTATT
= ® =
AEa 15a AT

ci 4

Question Number : 97 Question Id : 73681512377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Sulpha drugs are titrated by which type of titration:

Options:
1 « Diazotization tifration

> % Redox titration

- % Non-aqueous titration

4 % Acid base titration

Question Number : 97 Question Id : 73681512377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 98 Question Id : 73681512378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Oxidation of Galactose with Conc. HNO; yeilds:

Options:
1« Mucic Acid

> % Glucuronic acid
= % Saccharic Acid

4 % Gluconic acid

Question Number : 98 Question Id : 73681512378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 99 Question Id : 73681512379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Swynthesis of Urea takes place in:

Options:
1 « Liver

o w Kidney
- % Urinary Bladder

4 % Gall Bladder

Question Number : 99 Question Id : 73681512379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 100 Question Id : 73681512380 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Starting material for Amitryptiline is:
Options:

, « FPhthalic anhydride
> % Phthalamic acid

- % Tlerephthalic acid

4 % Phthalimide

Question Number : 100 Question Id : 73681512380 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 101 Question Id : 73681512381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Name the proposed capital of Andhra Pradesh.

Options:
1 ® Guntur

- % Guntakal
- % Vijayawada
4 « Amaravati

Question Number : 101 Question Id : 73681512381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 102 Question Id : 73681512382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The instrument for seeing minute objects is:

Options:

1 % Radar

- u Periscope
-  Microscope

4 % Photometer

Question Number : 102 Question Id : 73681512382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

, = R (Radar)

, » UNERT (Periscope)

. » AEHERT (Microscope)
, % WIEIART (Photometer)




Question Number : 103 Question Id : 73681512383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the odd one out.
Options:

1 % Mumbai

> % Kolkata
= % Chennai

4 « Shimla

Question Number : 103 Question Id ;: 73681512383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 104 Question Id : 73681512384 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
D}’HE!JHD converts

Options:

, « mechanical energy into electrical energy.

- % electrical energy into mechanical energy.

- % light energy into electrical energy.

4 % light energy into mechanical energy.

Question Number : 104 Question Id : 73681512384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 105 Question Id : 73681512385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Hematology is the study of:

Options:
1 #% DBones

- « Blood
= % Heart
, » Kidney

Question Number : 105 Question Id : 73681512385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 106 Question Id : 73681512386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

What should replace the ‘7" in the pair of words?
Cricket : Bat :: Tennis : ?

Options:

1 ® Court

S Ball
o Stick
4  Racquet

Question Number : 106 Question Id : 73681512386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 107 Question Id : 73681512387 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the odd one out.
Options:

1 % River

- « Lake

z % Canal

4 % Stream

Question Number : 107 Question Id : 73681512387 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 108 Question Id : 73681512388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which compound is commonly known as ‘laughing gas’?

Options:
1 % Methane

> « Nitrous Oxide
=z % Sodium Chloride
4 % Hydrogen Chloride

Question Number : 108 Question Id : 73681512388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT Fid °1 A= afeer 39 & a7 F J=4r JEar 872

Options:

;. o» @

o v TEEH HIFEES

. » WIETH FARES

4 # SIS FARISE




Question Number : 109 Question Id : 73681512389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tennis star Serena Williams belongs to:
Options:

1 % Switzerland

- % Russia

5 o USA.

4 % Germany

Question Number : 109 Question Id : 73681512389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

<fow =R 9iar TfeTg (Serena Williams) 78 gor &1 27
Options:

1 ® ﬁaﬁﬁ's'

- B EH-

= oW m-‘ﬁﬂ

. Eﬁ?ﬂ'

Question Number : 110 Question Id : 73681512390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The present official residence of the Prime Minister in Delhi is at:

Options:

, = ©.Flag Staff Road

> % 10, Janpath

5 % 20, Akbar Road

4 « 1. Race course Road

Question Number : 110 Question Id : 73681512390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

foedlr & gure 7 &7 FaE HOwRE wEw gl

Options:

| % B, TR TWIF U
o « 10, AT

5 % 20, 3FaT U3
Lo 1, RS



Question Number : 111 Question Id : 73681512391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
0.1x0.02x0.003=7

Options:
1 % 0.0000006

> % 0.00006
= « 0.000006
4 % 0.0006

Question Number : 111 Question Id : 73681512391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
0.1 x 0.02 x 0.003 = ?

Options:

1 = 0.00000086
> % 0.00006
= « 0.000006
4 % 0.0006

Question Number : 112 Question Id ;: 73681512392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the value of *?° in the series; 2. 4. 7. 11. 16. 7. 29.....

Options:

| B
[—

1. %

I
|

2 ¥

-2
L

3%

-2
g

4 *

Question Number : 112 Question Id : 73681512392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
2.4 7,11, 16, 7, 29.... Auft & *?" & AT AT R |

Options:

 ® 23
T
2 # 23
4 % 24

Question Number : 113 Question Id : 73681512393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A shop keeper purchased 1 dozen note books for Rs 12 each and sold at Rs 15 each. What is his profit?

Options:



1 % Rs30
> #% Rs45
2 o Rs 36
4 ® Rs24

Question Number : 113 Question Id : 73681512393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T AN 1 =i ﬁkiﬂﬂ#?.uﬁﬂﬁgﬂ?ﬁﬂﬁaﬁm%
3R %15 9fF Ale g% $r g7 ¥ 99 a1 ¢, ar 39 fraan oITsT gAT?

Options:
1 = L. 30

o= L. 45
g4 = T. 24

Question Number : 114 Question Id : 73681512394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The simple interest on a certain sum at 7% p.a. for 1 year is Rs 350. Find the principal amount.
Options:

; % Rs4.000

, « Rs5.000
2 u Rs4.500
. % Rs5.500

Question Number : 114 Question Id : 73681512394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
v AfeTa wefr 9T 7% 9T 99 SRT = T 2T ¥ UF 9¥ & v sar= i wefr % 350
gl 7 Wl A fiE

Options:

. % %.4,000
, v ¥.5,000
- % T 4,500

, % 5500

Question Number : 115 Question Id : 73681512395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The length of a rectangle B is 20 m and its breadth is 16 m. What will be the perimeter of a rectangle
which is exactly double the size of B?



Options:

1 ® 72m
- o 144 m
= % 40m
4 % 320m

Question Number : 115 Question Id : 73681512395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TF aa B Fr Ferg 20 Hew ik =g 16 ey & 37 3mag w7 afmmw
Fa1 g e 9T B ¥ 8% g 27

Options:

w72 e
> v 144 e
. % 40 #eX
4 % 320 #HeX

Question Number : 116 Question Id : 73681512396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The average weight of 8 persons in a group is 55 kg. If two persons weighing 60 kg and 65 kg join the
group, what will be the new average?

Options:

k

L

o

Lh

L

f

,  56.5kg

5 x 38kg

4 % 9kg

Question Number : 116 Question Id : 73681512396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

8 =afaaat # 3itaa a=t=7 55 famer 81 IfE 60 foralr 3l 65 forar arer aF =afea sw wog &
oMfAST 8 I &, a7 747 3iEa F47 geme?

Options:

1 % 57.5 fpeEms
-  56.5 Terarams

- % 58 fpettamd
4 % B9 TeRrellEmH

Question Number : 117 Question Id : 73681512397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



If cost price is Rs 4.800 and profit 1s 800, find the gain in percentage.

Options:
1 ® 16.5%

> % 16%
2 % 16.33%
4« 16.67%

Question Number : 117 Question Id : 73681512397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ofg T 77T T. 4,800 7 3R @M 800 g, o wfevera &y i a FfS

Options:

| % 16.5%
, % 16%

2 % 16.33%
16.67%

%

4.

Question Number : 118 Question Id : 73681512398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Mohan is thrice as old as Sam. Three years ago Mohan was 45 years. How old is Sam now?

Options:
1 ® 15
2.« 16
=3 ® 1B

g W 17

Question Number : 118 Question Id : 73681512398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AlesT # 37 FF ¥ A I ST g1 AT TH Tg AgA 7 37 45 off| 37 7 Fr 37
e 27
Options:

; = 15
> « 16
z % 18
4 % 17

Question Number : 119 Question Id : 73681512399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
You selected 13 mobile covers for Rs 2.600 and returned two defective pieces. Each replacement cover
cost Rs 50 more. How much did you pay?



Options:
. % Rs2.850

, » Rs2.750
2 « Rs2.700
4, = Rs2.800

Question Number : 119 Question Id : 73681512399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A ¥, 2,600 A 13 HESS FI9 I 3R & TT FIH I97 = O
qEol AT Fedd FHal H HIAG T. 50 FAET g1 39 Fhcdell ST fhar?

Options:

. % %.2,850
, % T 2,750
. v ¥ 2,700
., % ¥ 2,800

Question Number : 120 Question Id : 73681512400 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If ACEG = 16, Then BDFH =?

Options:
1 * 18

[ o]
]

= o

I

-2
[

3 0%
4

Question Number : 120 Question Id : 73681512400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If¢ ACEG = 16 &, af BDFH =7
Options:

; & 18

> o 20

= % 21

4 % 23

Question Number : 121 Question Id : 73681512401 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In a certain language PARLIAMENT is written as PNEMAILRAT. How will GOVERNMENT
be written?



Options:
; ® GNEMNREOVT

- % GNEMNRVEOT
5 ® GNEMNERVOT
4 v GNEMNREVOT

Question Number : 121 Question Id : 73681512401 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
U 39w FIz amr & PARLIAMENT & PNEMAILRAT for@r mar g, ar GOVERNMENT
# u orgr Jreen?

Options:

., « GNEMNREOVT
. » GNEMNRVEOT
- « GNEMNERVOT
. v GNEMNREVOT

Question Number : 122 Question Id : 73681512402 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Pointing to a photo Ram said. "She is the daughter of my father’s sister". How is that gir] related to
Ram’s father?

Options:

1 « Niece

- % Daughter

= ® Aunt

4 % Sister

Question Number : 122 Question Id : 73681512402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T TEIR H 3R FA A §T TH 7 Fgl, “Tg A Tar 1 787 H
I 271 TH & Tar & @Y 37 oShr F F4r ear 27

Options:

| SirET (Niece)
5 % o

. » =TT (Aunt)

4 w S

Question Number : 123 Question Id : 73681512403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



‘What should replace the *?" Debtor : Creditor :: Asset : ?

Options:
1 # Income

o  Liability
= % Profit

4 % Wealth

Question Number : 123 Question Id : 73681512403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘2 & FATH G FIT HTTET?
Debtor : Creditor :: Asset: ?
Options:

1 % Income

,  Liability

2 % Profit
4 % Wealth

Question Number : 124 Question Id ;: 73681512404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In a coded language if ‘I like this’ is written as 431 and ‘this is good” is written as 821 and ‘she is fair’ is
written as 572. How is ‘she’ written?

Options:

1. % 5

-1

o ®
T W i
4 + Cannot be determined

Question Number : 124 Question Id : 73681512404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T FIT STST H AR ‘1 like this’ FT 431 for@r =mar & 3K ‘this is good’
Fr 821 for@r =mar & 3T ‘she is fair =r 572 fr@r =T &, ar ‘she’ #
Far for@r ATTEm?

Options:

1_235
2_%?

3_%2

, » Teifa 7@ B = | Far



Question Number : 125 Question Id : 73681512405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In a coded language ‘field’ is called ‘tractor” and ‘plant” is called “farmer” and ‘seed’ is called ‘water’.
Where will you sow the seed?

Options:
1 % Plant

> o Tractor
= % Farmer
4 % Field

Question Number : 125 Question 1d : 73681512405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

UF HIT A9 F ‘W F TFT FaT AT g 3R 9w T Far Jew § o @ o+
‘qrA’ FET AT &, aF 3T =7 FEr Sroer?
Options:

;% 9
z.w“aw
T
4.%@3



